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309 ETM/A (2)
1. is a market where economic agents can freely exchange their endowments with each other.
(1) Market economy
(2) Centrally planned economy
(3) Aggregate demand based economy
(4) Aggregate supply based economy

2. Which of the following are correct statements ?

(A) Marginal Utility is the change in Total Utility due to consumption of one additional unit of

commodity.
(B) Two Indifference Curves intersect each other.
(C) Marginal Utility becomes Zero at a level when Total Utility remains constant.
(D) Diminishing Marginal Rate of Substitution does not affect Indifference Curve.
(E) Indifference Curve slopes downwards from left to right.
Choose the correct answer from the options given below :
(1) (A), (B) and (E) only
(2) (A), (C)and (E) only
(3) (A), (D) and (E) only
(4) (B), (D) and (E) only

3. Match List-I with List-I1 :

List-I List-I1
(Characteristic) (Implication)
(A) Equilibrium @ Plans of all the consumers and firms in the market
match
(B) Excess supply (I) Demand decreases with an increase in income
(C) Inferior good (ITT) Supply is greater than market demand
(D) Price ceiling (IV) Imposition of upper limit by government

Choose the correct answer from the options given below :
(1 (A)- D, (B) -1, (C) - (IID), (D) - (IV)
@ A)-@,(B)- ), (C) - (1I), (D) - (IV)
3 A)-@, (B)- 1D, (C) - (IV), (D) - (IIT)
(4) (A)- ), (B) - (IV), (C) - (D, (D) - (D)
SPACE FOR ROUGH WORK




309 ETM/A (3)
1. GTEOTLISI QIUTIHOTMTSTT (NHEUTHET HHEIFHET QFMTHS8 6T

RHAUMHHQ&ETHT FSHHHTLMS LUFIIDTM & &HTeTeTd:Sm QUL 62(H &FHe0 & WITES LD.
(1) FHen& QUITHETTSTTLD

) WSEHW S LA LIUC L QUITIHETTSTFLD

(3) QTS CHemel I LILImLUN6VTeT QUTIHETTSTTLD

(4) QLTSS QULPMHIGHE) 31 LILIL_UIN6VTeT QUIMTIHETTSTTLD

2.  LeTeu(neueTeummIGT 6T&l &IflWITeT FaMmMELD?

(A) ellefliby LweTUM®  6TedTLSI @@ Sa(QSHV VG QUM moiey
SITJ6OOTLOMS QLOMSH S LILIEOT LML 1960 MU LDTMHMLIOMTEGLD.

(B) @ 7600T(h 6VL_FIULI 6UEM6TEE6T 6260T60MGILLIMTETMI Glev L (h &) 60T M 60T

(C) Qs LwetUm@h BlemeumearsTs: @ el Cumg allefliby) Lwetum()
2@ L LSH 60 LLBBwnT&Hma

D) wrmoLiger alefliby NHFHmMEE GMUILGE SFIOCHTEHG 6UM6TEN6
LTS &M

(E) FLOGBTEHG auemere] @ L LABHS eueulnmd: SLCHTHS FTISH MG

GG QsEMO&sLUUL Bt  aNGlumi&Gelefmhas  Fflwmear  LUFHemevus

ng$®5®é§5qm: o

() (A), (B) oOMILD (E) L (BHILD

2 (A), (O) LOOID (E) LLBID

(3) (A), (D) LOMID (E) LLBID

(4) (B), (D) LDOMILD (E) LOLGHILD

3. ULIQUW6V-1 8 UL IQUWIeV-1l 2 L 60T QUMTIHE S8

LI L9 WI6L-I LI LG W 6V-TT
(B pUuiwevy) (BT55508 gHUD S SIS56)
(A)  FOElemev O FHSUINEL 2 6TaT NSS! BIGHTCEUTH
LOMHMILD Bl M6 60T IS5 61 60T G\ L_ L6155 61T
QUITBBSILD
B)  9F&LILIg ulmeT ID  eu@pLOmeTd H & HGID CLTEH CHemal
el GOMEHMS!.
©) Gplemev QumeT | D  FHenguler CaHemalemnl el aILpMIG 6
T &HIOME 2 _6TeT.
D) allemev 2 FFauridL | IV) SIpFMRISSSHTE 2 & aulnenLl & 5560

ECL Q&Mh SHLILL(HeTeT el LiLmIsefledmha FiflumeT LS amevs
CHIHOSHHH&HEDS

(1) (A)- D, (B)-AdD, (C) - (1), (D) - (IV)

(2) (A)- (D, (B)-d1), (C) - D), (D) - (IV)

(3) (A)- (D, (B)- D), (C) - V), (D) - (1)

4 (A)-ID), (B) - AV), (C) - (D, (D) - (II)

SPACE FOR ROUGH WORK




309 ETM/A (4)

4.

When Elasticity of Demand Curve is 1 at every point on the Demand Curve, this curve is known as :

(1) Perfectly inelastic demand curve
(2) Perfectly elastic demand curve
(3) Rectangular Hyperbola

(4) Greater than unitary demand curve

According to the Theory of Consumer Behaviour, Inequality pX; tpx, <M is called the Consumer's

(1) Budget 2) Budget Set
(3) Budget Constraint 4 Budget Behaviour

Choose the correct statements from the following :

(A) Adam Smith is termed as Father of Modern Economics.

(B) J.M. Keynes gave the Theory of Income, Output and Employment.

(C) Four Sector Model=C +1+ G + (X — M)

(D) Store of value is primary function of money.

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only 2) (A), (B) and (C) only

(3) (A), (B), (C) and (D) 4 (B),(C)and (D) only

Rearrange the given statements in proper chronological sequence in an ascending order (earliest to latest) :
(A) General theory of Employment, Interest and Money by Keynes.

(B) Mahalanobis was made a fellow of Britain's Royal Society.

(C) An Inquiry into the Nature and Cause of the Wealth of Nations by Adam Smith.
(D) The Economic Consequences of the Peace by Keynes.

Choose the correct answer from the options given below :

(1) (©), (D), (A), (B) (2) (A), (B), (C), (D)
(3) (A), (©), (B), (D) “4) (D), (A), (C), (B)
If there is no government and no foreign trade, then :

(1) G=T=M=X>1 2) G=T=M=X=1
(3) G=T=M=X=0 4 G=T=M=X<1

SPACE FOR ROUGH WORK



309 ETM/A (5)

4.

Bz emeu auemeelledr QBRLDFF CHemel auemeaTalledr spelGaUMIH LiaTerflullewid 1 o8

QBSGLEUMS, Q\HS 6UEMETE)] -

() WwHMlIb Bleneuwhm Cgeme6l 66y

(2) FflwmeT QBESHILLEUTET G5 eme6l 6UeM6TE

3) Q&F6I6& emaMLILITELITeVIT

4) emHaMWTLE CoHemeal aleme6Tameal il 9 &LI0MeTSI

BSTCUT) BLSMG GCHTLUMLIGET LG, FLSSIQUOETEOW px, + px, <M

mIsFGeurifleor _ 6T6OTMI SIMPHEHLILIHH MSI.

(1) eureeFeels HIL LD () ULOYL QsM&LIL

(3) aureeFaas HLLE SLOLUUTEH (4) LULQSL BLEMS

LY edreupeueTaummlev @b &iflulmer nl&enEHamnls CHTHOSHESHaD :

(A) Sl Lb 6vlg HelferT QUITIBETTSMTTSHSH 60T HHemS 6T60TMI P& &LILIGS M.

(B) G 6TlD  Q&UIETEN  eU@BLOMeTD, 2. MUSGEH Wwommid  GelemeveumulliL]
GaHITL_LIML6mL QULDMBIG6OTITH.

(C) BTeT@& Slemm MTH] = C +1 + G + (X = M)

(D) LHLIemUEF CHFLIILILIG! LI6ooTE H 60T (LNG60TenNEF Gl W6VLITL TG LD.

ECp  QamOssUULeter  alGlUBsGeaflO®mbEs  Fsflumear LUFHenevs

CHIHOSHHH&HLD :

(1) (A), (B) ommILD (D) LL(HILD 2 (A, (B)LOOID (C) LG

(3) (A), (B), (C) LDOHMILD (D) 4  (B),(C) LbOMILD (D) L GHID

Q&ETOHSELILL(BeTeT  Samisefley  Fflwmer eaflevgeaonw gmiauflensuilev

LDOIFTEnNG &N (WTIDLSHL @ BHS HHELMTSIEIMD) :

(A) Q&sUI60TEN TH W GauemeveUTUILIL] QL IQ LDMMILD LIeooTDd LMW QLTSI 6l TeoT

GammLuml
B) Yl Lefledr prmwev QFmem&FLlilquier o mililerymsgs  wammeuGermLien
Bl &es UL LITH.

(C) LIb evdlg TWH W CHFSHH6T QFAISH T H6oTenn DMMILD SHITF60oTLD
LMW eNl&myemeoor

(D) Q&UIGOTEN 6TIH U FLOMTSHTE0TE S 60T QILITIHETTSTT 6l60)6T6) 561

ECp QasmhssUULeter  alGluUmseaflO®mbs  Fsflumear LUFHeneus

CaIBESH &S LD:

(1) (©), (D), (A), (B) (2) (A), (B), (©), (D)

(3) (A), (C), (B), (D) “4) (D), (A), (©), (B)
TF @6veney, QaueflBTL() aUTSHSHSHLD E)6Ven6V 6T60TMITEV:
() G=T=M=X>1 ) G=T=M=X=1
3) G=T=M=X=0 4) G=T=M=X<1

SPACE FOR ROUGH WORK



309 ETM/A (6)

9.

10.

11.

12.

13.

The value of Nominal GDP is $ 1100 and the value of Real GDP is $ 1000. Find the value of GDP deflator.
(1) 0.9 2) 1.1
3 1 4) 0.8

Identify the correct statements :

(A) Stocks are defined over a period of time.

(B) Flows are defined over a period of time.

(C) Flows are defined at a particular point of time.

(D) Stocks are defined at a particular point of time.

(E) GVA at factor costs + Indirect Taxes — Subsidies = GV A at market prices.

Choose the correct answer from the options given below :

(1) (A), (C)and (E) only 2) (B), (C) and (D) only

(3) (B), (D) and (E) only 4) (C), (D) and (E) only

If the supply of final goods is assumed to be infinitely elastic at constant price over a short period of time,

Aggregate output is determined solely by the value of Aggregate demand. This is called

Principle.
(1) Aggregate supply 2) Aggregate demand
(3) Effective demand 4) Perfectly inelastic demand

Nominal Interest Rate =

(1) Real Interest Rate x Inflation Rate

(2) Real Interest Rate — Inflation rate

(3) Real Interest Rate / Inflation rate

(4) Real Interest Rate + Inflation rate

Value of MPS (Marginal Propensity to Save) is increased from 0.4 to 0.5. What would be the impact on
Multiplier ?

(1) The size of the multiplier would be increased.

(2) The size of the multiplier would remain same.

(3) Value of multiplier is undetermined with the given information.

(4) The size of the multiplier would be decreased.

SPACE FOR ROUGH WORK
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9.

10.

11.

12.

13.

QuUWIeTe] QWMEE o6BTLG 2 mussHuller wLHIY  $1100 L&D,
2_GUOTEMLOWITENT QLTSS 2 6THITL(H 2 muUSHUN6T IGILIL $1000 Sb&H6D 2_6T6TS).
liq L 19 & L1GeL_LfledT o)L 16mLIG &600TLlLLI6] LD

(1) 0.9 2 1.1

3) 1 4 08

FWMeT S mI&HE6eM6T |60 L UITETLD &5MTe0oT6Y LD

(A) UMBIGS&H6T @b GMIILINLL SmeulllGH ulev 6uem iyl migss L 5 6T meor.

(B) @L LM&6T e SMILILLL &meuliLiG&H ulley auemyulmigasLLI[H G et meoT.

(C) @LLMBSG6T @ SMILLILL CHIEHT60 auemTUIMI&aLLIH S 6T m6oT.

(D) UMIG&6T @@ GMILLILL GHIsSH 6V auem iyl mi& s LlLIH &) eormeo.

(E) &meoni] QFevaysefley & afl. g + emns euiflseT — WmeflwmkiseT = 1. al.
g. Fhen gLl ellemeuuiev

GG QsEMO&sLUUL et aGlumEGeeOmhas  Fflwmear  LUFHlemevus

CHIHOS[H &H&HLD :

(1) (A), (O) LODID (E) LLLGILD 2) (B), (C) LHMILD (D) LOLHILD

(3) (B), (D) LbOAILD (E) LL(BID (4) (C), (D) LOMID (E) LOL(HILD

@M QUITIHLG&6fleT aIPBIGHN GMIHW &HTusSH60 Blemevwlmer allemevuiev
UMMM QBHRDAITTSTEH SHIHSLILLLTN, QMSES 2. MUSH QUTES
Gxemauwllerr WGHLILIMTL WLHCL SrwmeflsGELLGSmS. @S
Q& ITETEM & 6TETMI S eMLPHELILIHGRMSI.

(1) QLTSS QULPMHIFHEV 2) QWLTEHsH CHemeal

(3) LweieTer G5 emel 4 oML Blemevwmm G emel

QuwyeTe| eullg NSRS =

(1) 2_6ooTemLlDWmenT aUL 1g eNT G0 x Licoorais & al1G &0
(2) 2_6ooTemLOWITeT QUL g NG S LD-LictoTals8 & LD
(3) 2_60oTEMLOWITEOT QUL LY NG &L/ LIctoTe 58 6 G &0
(4) 2_eooTemLOWITeDT QUL g &SI + Lisooreis s all& &L

ern.l.  etev.-@eor WHIIY (CGFUliyssmer  elleflidy  Wemetey)  0-e8(HH S

AT &H&EsUULB6Tengl 04 WSV 0.5 aled]. QUIHSHUNC 6T6iTer &HMESHE5mM55

gOUG SHBID?

(1) QUGBS WIT o6me 3F&flesLILGILWD.

) QUSSR WIeT 6emey @G MRl @) [HE G LD.

3) Q&MH&SHLILLL & 55616085 615 L_60T QLB ST U 6T OS]
SL0meot] &8 1L (R euH 6veme6v.

4) QUBESHWIET 6me| GemMESH LI

SPACE FOR ROUGH WORK
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14.

15.

16.

17.

Paradox of Thrift means :

)

2

3)

“)

If all the people of the economy increase the proportion of income they save, the total value of
investment in the economy will not increase, it will either decline or remain unchanged.

If all the people of the economy increase the proportion of income they spend, the total value of
savings in the economy will not increase, it will either decline or remain unchanged.

If all the people of the economy decrease the proportion of income they save, the total value of
savings in the economy will not increase, it will either decline or remain unchanged.

If all the people of the economy increase the proportion of income they save, the total value of savings
in the economy will not increase, it will either decline or remain unchanged.

depicts what has actually happened.

(M
3)

Ex-Ante 2) Ex-Post
Constant 4) Variable

If the value of Investment Multiplier is 5 and the increased income is T 800 crore in an economy, then find

the value of change in the investment in the economy.

)

T 4000 crore 2) T 120 crore

(3) %400 crore “4) 160 crore

Which of the following statements are true ?

(A) Quantitative tools control the extent of money supply by changing the CRR.

(B) There are two types of open market operations — outright and upright.

(C) A fall in the bank rate can decrease the money supply.

(D) Selling of a bond by RBI leads to reduction in quantity of reserves.

(E) The RBI can influence money supply by changing the rate at which it gives loan to the commercial

banks.

Choose the correct answer from the options given below :
(1) (A), (C) and (D) only
(2) (A), (B)and (D) only
(3) (B), (D) and (E) only
(4) (A), (D) and (E) only

SPACE FOR ROUGH WORK



309 ETM/A (9)

14.

15.

16.

17.

G5 56015 5 60T (LDI6vor LIM(H 6TEdTMITEV -

(1) QUTBETMTSTISH D 6T  MEOTEHG LN&HEHEBD  HMHIGET CFLil&HEGLID
QUBLTETSS 6 NHGHmE AHGFSHSTE, QUTGATTSTISHO LPS6SL g6
QUMEES WHLL AH&FEHEMS, 38 fDFRWLID V6V LDMMITO6
AmSELD.

(2) QUTBHETTSTISHL 2 6TeT NSS! NHHEBLD STHIGET QFaaIIEGLID
UGBLTETES 6 aHsHme AB&FSHSTL, QUIGETTSTISSH Cailliler
QUMEES WHLL AH&FEHEMS, 35 fDFRWLID V6V LOMMITO6
QBSHGLD.

() QUITGTTHTTSHL 2 6T SMETEHS DHHEHD  HTHIGEHT CHFUISHGLD
QUBLTETSS 6 HGHMmBE GOMSHSTE, QUIGETTSTISS Cailliilern
QUMEES WHLL AH&FEHMS, 35 fDFRWLID V6V LOMMITO6
QBSHGLD.

4) QUTBHETTHTISH 2 6TeT METHSE WEHSEHL  STRGET CoFuilsED
UGLTaETES 6 aHsHms AB&HSHSTL, QUIGETTSTISSH Calliler
QTS WHLIL P&FEETSH, & afPFRULUD 3606V LOTMITLON
QBSHGLD.

2 euorem U6l 6T6oTEnT BLBESI 6TeTLIENS ___ __ __ ____ F 551 sEHma
(1) (6OT6OTITEIT (2) weoreormeT @ (HendH
(3) Elemeuwimeot (4) LTYLGLD

®@H QUITHMTHMTISH (WSS (H QUmSEHUN6T IHLIL] 5 W&Heb, AF&HS5S
QUHLOMEOTLD 800 G&ITLY eHLIMWITEELD @) (BHHSHTeV, QUITIHETTSTISHH 6V (N&H6SL 196V
gHUBLD LDTHMESH 6T G LIemLIG GevorLmlule]LD.

(1) T 4000 G&ITIg (2) T 120 G&IMLY

(3) T 400 G&ITIq (4) T 160 G&ITIq.

LY edTeu(pLD ammiderflev 618l 2 _evoremIln/&If] 2

(A) &. 97 LT WTHMIEISHET epeuld Lieoor elBIGWMTESSH T Si6Temel 36Te)
&H(HeNS6T &L (5 L1LH) & S5 60T M 60T.

(B) HOHS FHMG GFWLLTHISETD @Teor(h UENSHSHET 2 6Temer-eueugl LimLD
LOMMILD GBI M.

©) aui® ANBFEH L gL L efbgFe Licoor lBICUMTHSHMS &6MMEGLD.

(D) flFjey euBIBNWML USHIHIGmeT alMuUemeT Q&Fuleug @) @HLIL &6 et
3IETEMEUS GHMMES allPlelGEHRMSI.

(B) flegey am&  euenlles ABH&HEDHEESG SLOT aPEEGL  NHS55mS
LDTHMIEISET eLnevLd Lieoor lBIGWMESESH 6 QFAIMTEHEG QFNGHS (LNLGU|LD.
ECp QmEMO&sLUULBetemr al@liunisefleimhas  Fflumear UHameus

CaIBESH&HSHWD
(1) (A), (OO D) LLEL  (2)  (A),(B) bOMILD (D) LLLGILD
(3) (B), D)LOMIDE)WLLGL 4 (A),(D) LDOXID (E) LLLHID

SPACE FOR ROUGH WORK



309 ETM/A (10)
18. Match List-I with List-II :

List-I List-II
(A) Bank Rate (I Securities are pledged in order to repurchase
(B) Marginal Standing Facility [ (II) Minimum rate at which funds are provided for long
term
(C) Repo Rate (ITT) Also known as Penal Interest Rate
(D) Reverse Repo Rate (IV) Central Bank borrows funds from commerical banks

Choose the correct answer from the options given below :
(1 @A) - @, B)- 1D, (C) - (1), (D) - AV)
(2) (A)-(D, B)- ), (C) - (@), (D) - (IV)
(3) (A)-@, (B)- ), (C) - 1IV), (D) - (1)
(4) (A)- (1), (B) - (IV), (C) - (D, (D) - (1)

19. Which of the following is not a function of Central Bank ?

(1) It controls the money supply in the economy through different rates.
(2) It acts as a banker to the government.

(3) It accepts deposits and give loans to people.

(4) It issues the currency of the country.

20. Article 112 deals with :

(1) Consolidated Fund of India 2) Public Account
(3) Union Budget 4) Contingency Fund

21. All those elements which create liability and decrease the assets of government are known as :
(1) Capital Receipts 2) Capital Payments

(3) Revenue Receipts 4 Revenue Payments

22. Arrange the following elements in correct chronological sequence (earliest to latest) :

(A) Smithsonian Agreement (B) Bretton Woods Conference
(C) Establishment of WTO (D) Gold Standard

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) 2) (D), (B),(A),(©)

(3) (D), (A), (B), (C) 4) (©), (B), (D), (A)
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18.

19.

20.

21.

22,

LI 1QUI6V-1 & LILIQUI6L-Il 2 L 60T QUTHSH SIS :

LI LQ WI6L-I LI LQ WI6V-TI

A) aums & 50 M LSS TRIET Levor(hLD 6UTHIG6USMEHTES
SILLOITEOTLD 60Y6 885 L1LI (5 G 60T D 60T.

® gusplome PHGL s | ) oL sTsshe BIF eaphislU@ELD
GOMBHSLLF NS HLD

©) QrLuGurm ef&sLd (1) SHooTL 66T eIl lg  eHHID  eredrmild
MPESELILOR M

D) emevBLD QFLIGUIT &S0 av) DSH W aUMmIG il
RIS G6flLIBHS &L60T UMTHIGRHMS!

86  esmhs&ssuULGerer  allpuumisalel®ng  sflumar LSmes
CHIBHOSHHSHHLD :

(1) (A)- @, B)- 1D, (C) - (1), (D) - (IV) 2)  A)-1D,B)-d), (C) - @), (D) - 1AV)

(3) (A)-@,B)-1D), (C) - (1V), (D) - (1) 4 (A)-(), (B)-AV),(C)- D), (D) - (1D

L9 6dTeu (IH U 60TEUM MIGT 6T DG H W 6UMHBIGH U 60T Li6ooT2|6L6v?
(1) %gu QeuelGaum  ANBFHGET  epeVld  QUTIHETTISTISH  Lieoor
BIBWMHSMS &L QLILOSSHMS!.
Q) @8 SITFMHIGSH MG @@ UBISUTETITS QFULOLKSHMS.
() @8 MALULSOSTMHSHET JHMGEE&HTEI(H DHEHEHHESG &L 60TSHeme6rT
QULDEIGH DG
(4) @& BITL Q60T BITeooTLISGenS GaueflulBR M.

LNfley 112 Lesreueusoreumemnms &mILILNBSRmS
(1) @BHWTe6T RIBHBIHNETHS BIFH (2) LTSS 56005 G
(3) W,enfluiedr LILQegL- 4) SHEFWe B

QUITOILIEDL 2 (HUTEHEE  UTFMHSESHET  CFTEHSHEHMEE  GMMDEGLD
S| 6MEITS Sl B MIGHGHLD

(1) ELNEVSEIT 6UTE 6T (2) CLNEVSHETE QF VIS S160)8 561

(3) QUIBHGUITUI QUITEYSH6T (4) QBT QF&VIE S60)5 86T

WesteubLd snmisener giflwmer auflenguiley auflensliLi(hSSIm&6T (Q4TDLSS 60
Q®HS HHELNSIEIEN):

(A) 68 CamentWI6oT LIS

B) WQ@LLedr oF MBI

(C) 2.68 QU555 emliL] Bloielwg

(D) G&MeL(h ENVLIMEDOTL[TL_

GG QsEMO&sLUUL et alGlukisefled@mba  Fflwmear USamens

CaIBHESH &S LD:
(1) (A), (B), (C), (D) ) (D). (B),(A),(C)
(3) (D), (A), (B), () @ (0, (B), (D), (A)
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23.

24,

25.

26.

Under flexible exchange rate, when the price of domestic currency in terms of foreign currency increases, it
is called

(1) Depreciation of domestic currency

(2) Appreciation of domestic currency

(3) Devaluation of domestic currency

(4) Revaluation of domestic currency

Match List-I with List-I1 :

List-I List-1I
(A) Pegged exchange rate system D Setting up of IMF and World Bank
(B) Managed floating (I) Fixed exchange rate system
(C) Bretton Woods Conference (IID)  Dirty floating
(D) Third element in BOP (IV)  Error and Omission Account

Choose the correct answer from the options given below :
() (A)-(D), (B)- @), (C) - (), (D) - AV)
(2) (A)-(D, (B)- ), (C) - @), (D) - AV)
(3) (A)- (@, (B)- I, (C) - (IV), (D) - (1)
4 (A -dID), (B) - (IV), (C) - (1), (D) - (II)

Casualization of workforce would result in :

(1) Decrease in the vulnerablility of the workforce.
(2) Increase in the vulnerability of the workforce.
(3) Increase in the number of regular workers.

(4) Income and employment stablility.

Choose the correct chronological sequence in ascending order (earliest to latest) :
(A) Establishment of NABARD

(B) FRBMA (Fiscal Responsibility and Budget Management Act)

(C) Third Five Year Plan

(D) Nationalization of RBI

(1 (A), (B), (C), (D) 2 (A, (©),B), D)

(3) (D), (A), (B), (C) @ (D), (©),(A), B
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23.

24.

25.

26.

QBE&HLbaumer LTHM  NHBGSEHer B, QeuslIBTLB  [HITeoorls S eor
Il LiLemnLuflev 2 6THITL(H BT S H e ellenev AF&fleEGLID CUMSI, @S
___6TetTm SN SSLILOQHMS.

(1) 2_6TBHML® HTeoorw &S et InGLIL] &Fifley

(2) 2_6THMTL(® HTeoor WSS 60T INGLIL] 2 W6y

(3) 2_6THMTL( BHimevorwl DG LIS GenmLiL]

4) 2 aTBITL () BITevoTwSSH 6ot Ml G LILTH

LI 1QUI6V-1 & LILIQUI6V-Il 2 L 60T QUTHSH SIS :

LI 19.W6L-T L 19 W6L-TT

A) WwsHepuwllLulrL  wmmo| @ &FIjG).I(S&,E. 5 IT60OT WL I.'_Fr)]@;.U_ILb LMHMILD
NH S (emMenLD 2 U5 EUMIG 6DLDG S 6V

B) WsEGLD g6 1D Blemevwimest THM N& & LM

© eyl Ler el e LDmBT(H 1D &G SSERDS!.

D UeLluié epermmeug Hm&n| IV) Qenwp nhmib seFliY &6ms s

ECp  QamOssUULeter  alGlUBsGeaflO®mbEs  Fsflumear LUFHenevs
CaHIHOH(H&H&HeLD:

(1) (A)-AD, (B)- (D), (C) - 1), (D) - (IV) 2)  (A)-1D, B)- 1), (C) - @), (D) - 1AV)

(3) (A)-(D, (B)-AD), (C) - AV), (D) - (IIT) @ A)-d), (B)-(1V), (C) - D), (D) - (D)

Leooflwmerygserflest 2 uilJeGaFsLh Lstreumeustreuemnm ellemerells @D -

(1) uesoflwmeTFgserler LTS LIenL &M &S 60

(2) uesoflwmerFsserfler LUTHLILN6L B &L

(3) eup&&LInmeor e UFgs6rfledT 6T6voT600f 8608 3H S If1LIL]

(4) eU(BLDMETLD LMMILD CauemevauTUILIL] [Bl60)6V8 5 60TemL

goaiflenguiley Fflumer eaflongaws CHIHOSHHHAID (QLTIDLM  (NHV
SHCUMTSIEUEN) :

(A) BUTTE Bloieysey

(B) eIl Flilerine (Bl QuUTMILIL] nmmID LIL QL GLo6eVTeorenln &L L LD)

(C) eeTMmTLD 8BS Mevor(h HIL_L LD

(D) flejeu aumGulletr G5 & UILDWILDITE S 6V

ECp QamhssUULMeter  alGpluUmsGaflO®mbEs  Fflumear LUFHenevs
CaxIHOFHHH&HALD :

(1) (A), (B),(C), (D) 2 (A),(©),B), (D)

(3) (D), (A), (B), (O @ (D), (C),(A),(B)
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27.

28.

29.

30.

31.

implies that resource extraction is not above the rate of regeneration of resources and the

wastes generated are within the assimilating capacity of the environment.
(1) Absorptive capacity 2) Carrying capacity
(3) Subsistence capacity 4) Exhaustive capacity

Government of India enacted the Right to Education Act in 2009 to make free education a Fundamental

Right of all children in the age group of years.
(1) 4-10 2) 6—12
3) 6-14 4 8—15

Following are the sources of electricity generation in India. Arrange them in correct sequence on the basis

of total power generation capacity (higher to lower) :

(A) Nuclear

(B) Thermal

(C) New and renewable energy

(D) Hydro

Choose the correct answer from the options given below :

(1) (@A), B), (C), (D) @2 (A, (©),B), D)
(3) (B),(C), (D), (A) @ (B),([D),(©),(A)
Arrange the following items in correct sequence :

(A) Competition Act

(B) FEMA

(C) FERA

(D) MRTP

Choose the correct answer from the options given below :

(1) (A), (B), (O), (D) 2 @A), (©),B), (D)
(3) (D), (C), (B),(A) @ (©),(B), (D), (A)
The Great Leap Forward (GLF) campaign was initiated in

(1) 1948 2) 1938

(3) 1958 4 1942
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27.

28.

29.

30.

31.

alemmIgG6T LNFS5050OLILS al6eTs &6 LIEhIHalMsHI0 B sHms el H&HIDMS
@6vemey  GTeTLIEMSWD, 2 (BeumssLUUGL &SWleseT & mHmiE@Loedleor

62 (B MBI 5 6m60oT LIL| B MED)I &G 61T 2_6ITET60T eTeoTLIen&S U _ GMOEHMSI.
(1) 2 MlEhaLb Hmeor 2) &G Hmeor
(3) QUMRAUTSTIS &6t 4 LWenLDWENLU|LD & medT

@BHW J&H 2009 b eoorigey Hevall 2 [flemng FLLSS Quimmiwisgi,
@eveuFs sevalleduwl _ QAWGIHGL L L M6TES & LOH6e0 58 6rfleor
I lilemL 2_flemwims WmmHmlulg.

(1) 4-10 2 6-12

(3) 6-14 4  8-15

@S wmeley WeTFMTy 2 MLSSH &HETET STIMHIG6T LN6Tel(hImm. QTS s Loledr
2 MUSGH Hmeofleor QliLemLUuley  eumemnm  Fflwmer  auflemgulilev
aflenaFlIL(H &S mG6T (CLedBHaE HLD) :

(A) 2WFES)

(B) |60T6L FE&H)

(©) USwW mmid 4aIULNG55588 6 ifless)

(D) BillesramyLd

ECp  QamhssUULBeter  allGLluUmsaflO®mbEs  Fsflumear LUFHemevs

CaIH0OS(H &&e]LD:
(1) (A), (B), (C), (D) 2 (A, (), (B), (D)
(3) (B).(C), (D), (A) %  (B),(D),(C),(A)

LYeTeu(pLd 2 pLILLEem6T Fiflwime auiflenguilev auiflen&LiLI(h & SimIS 6T

(A) GUITLIQF &FL L LD

(B) &QULOMT

(©) &QuUIm

(D) 6Tb&LIg LY

ECp QmEMO&sLUUL M6t al@liunisefledmhas  Fflumear LUHameus
CaIBESH &S LD:

(1) (A), (B), (C), (D) 2 (A),(©),B), (D)

(3) (D), (C), (B), (A) @ (©),(B), (D), (A)

FRCTL 65U suMTeur(® (8. 6Tev. eTLl) LNJFF ML
(1) 1948 2) 1938

(3) 1958 @) 1942

@6V QSTLMRIGSLILILLSI.
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32.

33.

34.

35.

36.

Match List-I with List-IT :

List-I List-II
(A)  Great Leap Forward ey Protecting the future generation
(B)  Mao Zedong (ID  Aimed at industralising the country on a massive scale
(C)  Brundtland Commission (IIT)  Introduced the Great Proletarian Cultural Revolution
(D)  Our Common Future (IV) Seminal Report that explained sustainable
development as meeting the basic needs of all for a
better life

Choose the correct answer from the options given below :
(1) @A) - @, ®B)-dD), (C) - 1), (D) - AV)
(2) (A)- (D, (B) - 1), (C) - @), (D) - AV)
(3) A)- @, ®B)-1D, (C)-dAV), (D) - (D)
4) (A)- (), (B) - (IV), (C) - (D), (D) - (1I)

Second phase of Green Revolution is termed from :

(1) mid 1960s to mid 1970s
(2) mid 1970s to mid 1980s
(3) mid 1950s to mid 1960s
(4) mid 1980s to mid 1990s

During 1980s, the growth rate in Pakistan improved on account of which of the following reasons ?
(1) Institutionalised process of technical change

(2) A good harvest

(3) Sustainable export of manufactured goods

(4) High amount of foreign direct investment inflow

When there is unexpected rise in the sales

(1) Aggregate demand would decline.

(2) There will be unplanned accumulation of inventories.
(3) There will be unplanned decumulation of inventories.

(4) Normal profit would be lower.

During festive season, the currency deposit ratio

(1) decreases 2) increases

(3) has no impact on it 4 first decreases then increases
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32.

33.

34.

3s.

36.

LI 1QUI6V-1 & LILIQUI6L-Il 2 L 60T QUTHSH SIS :

LI 1gwi6L-I UL 1gwi6v-I1
(A  WeTCeTm&SH QuUIflw LIMEF6 (I eaHFEHMLE FHemeu(pemmenulLl
LUMSI&HTHSH6V.
(ID BIlemL QuUBL6eTe6
(B) wmGeur GFgiml Q&TNWINTEHGCSH @) 5 60T
GBM&H &L
(IID im@u@pb UL Lmerf] euysss
(C)  Liyevor_GevevorL &Lileq et SHVMEFTIL LTl & enul
ANWPSUILOSS 6T
(IV) mlemevwimeor  eUETIESF  6T6dTLIE (B
FMHS UMLDG GG ST 2|60 6oTel [f60T
(D)  BOG QUITHIEUTET TH &MV QLIS CHmeUGHMETUD L,THS)
Q&FUIeUSl eTetTm eNleTE&SIU g LML
M &5

86  esmh&suULGeTer  all@puumisaflel®hg  sflumer LSS
CHIHOSHHSHHALD :

(1) (A)-®, ®B)-dD, (C) - D), (D) - (IV) 2 A)-dD, B)- ), (©) - @), (D) -AV)

(3) (A)-D,®B)-dD, (C)-AV), (D) - 1) @A) -1, B)-(1V), (C) - D), (D) - (D)
Lgremloll LG ulledr @) revorLITLD asn&)md%@surrgj AP EELILGRMS! :

(1) 1960 serlest BHILILIGS (n&H6v 1970 Sserfleor m@ﬂu@gwmg

(2) 1970 serfledt BHILILIGS (GH6v 1980 Serflett BHILILIGS euem

(3) 1950 serfledt BHILILIGS (&6 1960 Serflett BHILILIGS euem

(4) 1980 serflest BHILILIGS (D&H6ev 1990 serflett BHILILIGS euem

1980& 61l LITE VG Mentledr eueTi&Fs eSS LNetTeuhHld S5MTIeooTmIG6 160 6185 60T
&TIeooTOMS GODLIL L &I?

(1) QsTPeLHIL L IDMMME S 6T Bl mIaI6oTIOWIDT&SSLILIL L. G1&FW6eV(LN6mm

(2) HELEL SIMIAIEDL

(3) 2.MUSH) QEFWWLILILL QUTIHL G616 BlemeuWmeT g mILnG)

4) B & 2y6mey SBBIW CHTLY PSSO LTSS

aflmuemesTullev eTHTUMITS 2 W6 goHuU@m Cung _ @ (H&GLD.

() QMEs CHemel GemMmU]LD.

Q) SLLALUULTSULN FIHE&HmeT HTL(HEHe0

) FrHGs&efler HLLINLLIULTS Fleangel

(4) Q@ WIELLIMEDT GLITLILD GHMEUTESH @) (H&GLD.
LI6OOTL) 60V 85 85TEL&F)6V, [BTevoT W emalliL] al&H &L
() &ODE DS

2 S

(3) 6rbhs LUMHLIL|LD @ 6vemev

4 sl GeoD&Ma Lerar) 215 & sHna!
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37.

38.

39.

40.

European Monetary Union was created in
(1) 1996 2) 1994
(3) 1999 @) 2002

Identify the correct statement in the context of Circular Flow of Income in a two sector economy :
(1) Household receives factor services from firms.
(2) Household invests while firm saves.

(3) Firms produce goods and services.

(4) Household supplies factor services to Government.

Identify the correct set of statements.

(A) Ex Ante Saving represents what is actually planned to save.
(B) Ex Post Saving represents what is actually planned to save.
(C) Ex Post Saving depicts what has actually happened.

(D) Ex Ante Post Saving represents what is actually saved.
Choose the correct answer from the options given below :

(1) (A) and (D) only

(2) (A)and (C) only

(3) (B) and (D) only

(4) (C)and (D) only

Match List-I with List-I1 :

List-I List-II
(Elements) (Features)
(A) Annual Financial Statement D Create liabilities or reduce financial assets
(B) Capital Receipts (I) Trade surplus
(C) Capital Payment (ITI) Main budget document
(D) Export > Import (IV)  Create financial assets or reduce liabilities

Choose the correct answer from the options given below :
(1 @) - @, B)- 1D, (C) - (1), (D) - AV)
(2) (A)- ), (B) - (), (C) - (IV), (D) - (II)
3) (A)- D, (B)- (D), (C) - (IV), (D) - (IIT)
4 A -dID), (B) - (IV), (C) - (1), (D) - (II)
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37.

38.

39.

40.

oCrmUILIwW Bmevorul epeormlwid _ @6V 2_(HEUMSHSHLILIL LS.
(1) 1996 2) 1994 (3) 1999 4) 2002

@@ SeOm QUITMHETTSETISHO  QGLOMOTSH T  &HLMHF el LSHer
LY edrevrevofluflev &iflulimest <inil& 608 6mU {60)L_UITETLD &5TE0OTEYLD :

(1) &GO LLUBISET BlmieusThiseaTfILL®BHE &Trenl] G&FemeudemerTLl GLIMIG 6T meor
(2) mloeuerld GGG CUME GO DLMBIGSET (N&6SH 68 U5 6dTm 60T

(3) BlMICUETHIGET QUTHL.&6T LDMHMID CHFmMeUEemeT 2 MLIGEH 6 & UG 60T 6.

4) rFMEISESHMNHGS _(HL QUTIHL S56T aULNMHIGHE) SHITT6001 G666

Frflwmer 9m& & 866 Q& MEG LML 60 L UITETLD 85MevoTeLD.

(A) eT&env  opeTCL Gl 2 eoemnuilley ColEGEs S LG LLL L engs
ST RES

(B) 6T&6M GumenL GFallml 6GTEOT LIS 2 _eooremnuiley f:AN =33
LA LUl g GLlUenS s &SR M

(C) 2_600T6emLDUI6L 6T60TEOT [HL[HS G 6T60TLIENS 6786 CGLIMeVL. F &5 16HmS!

(D) eT&eN  eTCL  Gumevl. Couilliy 2 eoremouiey CoilssLILbB eSS
G&HH DS

GG QaEMO&sLUULBetemr  al@lukiseflemhas  Fflumeor LUHames

CaIHOS(H &S :

(1) (A) LOHMILD (D) LLHID 2 (A WLHoID (C) LLGBID

(3) (B) bOMID (D) LHID (4 (O)wmMILd (D) L GHID

LI 19 UI6V-1 83 LI 1QUI6V-1l 2 L 60T QIUIM(HSH SIS
UL 1qW6V-I LI 19Ul 6V-II
(5o 01 5561T) (8 M LILILD & 61 85 61T)
(A)  QGLIHS BIG) SiMEGms | ()  HLTHMET 2 (HoUTHGH) V6V
BHEF QF TS5 5665 &6MME 560
(B)  CLOGVLSE0T QUIT6E6IT I  eus5ss 2 Uifl
(C)  EPELGH6TE CFVGHFHIEM 5 1) (WHHRW aITe|6Feels B L 3,61600TLD

D) gHoOINSH> GMEESGLIS av) BIBF QFMHMS 2 (HEUTEHES6V
VS HL6ITHMETES &6 MESH6V

ECp QaMhssUIULeter  alGlumseafledmbgs  Fflwmear LUSHemeus
CaIBESH&HSHLD :

(1) (A)- @, B)-1D, (C) - (1), (D) - (IV) )  (A)-m), B)-D), (C)-AV), (D) - D)

(3) (A)-@,(B)-1D), (C) - (1V), (D) - (11I) @ (A)-I), (B)-AV), (©)- D), (D) - D
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Read the following passage and answer the next five questions :
In our quest to increase agricultural production during the last five decades or so, we almost totally neglected the
use of compost and completely switched over to chemical fertilizers. The result is that large tracts of productive
land have been adversely affected, water bodies including ground water system have suffered due to chemical
contamination and demand for irrigation has been going up year after year. Farmers, in large numbers all over the
country, have again started using compost made from organic wastes of different types. In certain parts of

the country, cattle are maintained only because they produce dung which is an important fertilizer and soil

conditioner.

Earthworms can convert organic matter into compost faster than the normal composting process. This process is
now being widely used. Indirectly, the civic authorities are benefitted too as they have to dispose reduced

quantity of waste.

41. How is civic authority getting benefitted due to biocomposting ?

(1) They have to dispose increased quantity of waste.
(2) They don’t have to dispose any waste.
(3) Because civic authority has no role in waste management.

(4) They have to dispose reduced quantity of waste.

42. Choose the correct statement concerned with the passage :

(1) Earthworm takes equal time to convert organic matter into compost with respect to normal
composting process.

(2) Earthworm takes more time to convert organic matter into compost with respect to normal composting
process.

(3) Earthworm takes less time to convert organic matter into compost with respect to normal composting
process.

(4) Comparison between earthworm based composting and normal composting cannot be made.

43. Water bodies including ground water system have suffered due to :
(1) Biocomposting
(2) Chemical contamination and increased demand for irrigation
(3) Organic farming

(4) Increased fertility of land
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QETH&SULLL LT emwL LSS, LNeTeu(hlh CaHeTell&En s @ LS evealflsasayl.

Geuermeoor 2 MUSH MW &G0 HLHS BHGH LSHTomH&6TTS allausmul 2 MLSHemul
AP &FLUsSHSETr BOG WWHFUN, 2 05H 6T LWeTUTL L B LSS L WHNIeILDTS
HM&EHe0N5SE, @QUFmTWer o JhisEhsE LmolallGLmb.@&6ar  allanerauns, 2 MUSGH
Blevmisefler QUi LUGH&6T GUIEFLTEH LUTHHEHLILL(H6Temer, @MW LmaLIMTL LTV
Bleussle BT el  2eamefllL BiBlemevsear UmTH&&LUL(BeTemeor,  GLOsd
UMFeTSHMaTer CHemel amBCHMMID H&HHS aGHRMmE. BTH WWEISID 2 6TerT
afleugmuilser, LCGaum ealemswmer &flng sWlesefled®mbhas SWMlEsUUEL 2 055
BSeoor(GD LWeTUGSSS QSTLBIGU|6TETer . BITLIGeT Flov LUGH &6, SHMTeLHenL 6T
(LSS WLDITET 2_FLD LDMHMILD LD6BOT 85600714 Q60T TS @) (HSHEGLID FMTETHMS 2 MLSDH Q&F 6TV
WL GG urmniflEs LU ) 6T meor.

LDEOOTL|(D&:&6T @ uievimer 2.7 sWMfl&@Gn  Qewenenment ol Geusnms Sl
QUL Gem6T 2 IO  WIHmID HmeT Q&TarLemel. @hs QFwWwenm GLCUTS
Ugeleunsll LUwWeTU®GSSUILUGERMS. WemmIN&EINTS, Gen IAH&THHEEEn  Gombs
gjerallevment &LPla s&em6T LML S GeueoorqUIl(HLILIGTEV LILIETen L SBMITI&H6T.

41. 2 W7 2.7 sWmilliugeor epeuld @GLemn SH&TILD eTeUeUTml LIUIeoTenL S m&I?

(1) 29655 erallevmer &LH6|&HmeT 3alFsH6T LILMLILIMGSS Galevor(lLD.

(2) SIS 6THSHE Hl6|&HemeT D SLILMLUILGSS G6letorlqUIFH606me6V.

(3) gQeurenflev &HPla GeVTETEMOUI GlgemD AFSETISHMGS 6THSLI LIMHIGLD
@) 6V6DI6VL.

4) GBS 3jeTallevmer &6 &HemeT aIFs6T ALUILMLUILGSESS Calevor(LD.

2. USHUWLET QSTLILemLW Fflwmer Hm&EamEamls CHTHOSMHI&SHa]I :

(1) Fmsmyeor 2. Jb SWMFlHEGSD QFWaWenmenLll QUTMISSaIen]T, &Ll
QUL &HEM6T 2_[JLOME LOMMM LO600TL|(LP&H&HEHE G FLOLNMeoT GBI 6T(h& @G LD.

) gngnyeer 27 SUMTHEGL  QFWOLWmDOWL  QUINIGS Sl
QUITIHL_G6006IT 2_[JIOMS LOMMHM LOETITL|(LDEE6T 3H & GHILD 6T(H &G LD.

(3) FMGMyesor &U’LD SWrfléeLd QEU_IGU(I_.IJGU)mGG)U_Iu QI.II'I'Q.IQ‘;QSQ.IGU)I]’
LD6O0TL| (D& &6 SIFILT QUL GeN6T 2 0N THMEISNHES (& 6N MelTeor
GmrIGLy eT(h &G LD.

(4) wevorW W liuemLullevmeor 2 Jld SWTHlLIUSMHEGILD FOSMFeOT 2 LD
SWUTILILSHGSD @emLCuw LILSH Q&FUIW (IGUITS.

43. Blewssly BT emwlil 2 eTefll L BiElemevser LNeTeu(hd & ITIT60oT IS 6T ey

LIMT& &8 LILIL (h 6IT6ITeoT :

(1) 2 ulflwev 2 gl swmiflg g6

() @uamwenr WM&UMH WHmib BrliurFearsHmamer Csamnal H &L

(3) @QUMemns CEUATITEOOTEMLO

4 BlevSSeT 6u6Tld S &5 560
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44. In certain parts of the country, cattle are maintained only because they

(1) Produce milk to increase income of farmers
(2) Produce dung which is an important fertilizer and soil conditioner
(3) Work as insect repellants

(4) Are a symbol of traditional ethics and values

45. What should be the suitable title for the above passage ?

(1) Biocomposting (2) Biopest Control

(3) Traditional Knowledge and Practice (4) Uses of Chemical Fertilizers

Read the following passage and answer the next five questions.

India had an independent economy before the advent of the British rule. Though agriculture was the main source
of livelihood for most people, yet, the country’s economy was characterised by various kinds of manufacturing
activities. India was particularly well known for its handicraft industries in the fields of cotton and silk textiles,
metal and precious stone works etc. These products enjoyed a worldwide market based on the reputation of the
fine quality of material used and the high standards of craftsmanship seen in all imports from India. The
economic policies pursued by the colonial government in India were concerned more with the protection and
promotion of the economic interests of their home country than with the development of the Indian economy.
Such policies brought about a fundamental change in the structure of the Indian economy — transforming the
country into a supplier of raw materials and consumer of finished industrial products from Britain. Obviously, the
colonial government never made any sincere attempt to estimate India’s national and per capita income.
Some individual attempts which were made to measure such incomes yielded conflicting and inconsistent results.
Among the notable estimators — Dadabhai Naoroji, William Digby, Findlay Shirras, V.K.R.V. Rao and R.C.
Desai — it was Rao, whose estimates during the colonial period were considered very significant. However, most
studies did find that the country’s growth of aggregate real output during the first half of the twentieth century

was less than two per cent coupled with a meagre half per cent growth in per capita output per year.

46. Before the British rule, India was well known for which manufacturing industries’ products ?

(1) Cotton and Silk or Khadi textiles
(2) Cotton and Engineering products
(3) Cotton and Silk textiles, metal and precious stones, etc

(4) Engineering goods and precious metals
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44. BITLIQ6T Flov LGB G660, &HITeLHE0LS6T 2 MUSH QFUISTE
DL GG UrmflesLiL i S ermeo.
(1) eleugmuilserler a@BLTaTESmS B &HE LiIMTe 2 MUSEH QaFWwliLG&msl
(2) FMeOOTLD @@H (LSS WILDITET 2_[JID LM MILD LO6DOT &600TL9A9.60TH b @D
) WEFR allFL(hLd LDIBHSISGETTEH Calemev Q&uIu]Lh
4) urgburflu Qpmlenm&6T WMHMID LGS 66T & edTeorLD
45. GMSETL LSH&HE QUITIHSSHLOMET &606VLIL] eT6oT6oTeUTd: @) [Ha8 Caletor(hLD?
(1) 2_wiliflwev 2_rib swmiflgsev
) 2-wWilflwev FER & &L GLIUTH
(3) urgbuflu ey WHMID HenL (PnMm
(4) @UEFTUWET 2_[JHiGe6rledr LiuledTm(H &6
QEMH&&SLLLL UGS emwL LSS, LNeTeuhlo CoeTells @58 @ LIS everleasayln.

SQBIHCUWT L& amasSHE&S WeTl @bHWmeale &HEHHTITeT QUTIHETTSTIN @UhSS. GLBLOLITETET
& &6fl6T QUITPAITSTISH 6T (N&HEHW STIINMS lelFTWid @UEsCUITHIM, BT Q6T QUITIHETTSTTD LIsGalm
QUEMSWITET 2 MLISE) HLEUIGHSHHETTE alan&BLILMSSILL LS. UHSS Wmmibd Ll (G gelefls6r, 2 Geumsid mmih
allemeun@ILIHM &b CalemeuseT CUITETm Slemmaafley ens:alleaners QSTLHEBHEG QBB WT SMILILTES BTG
WUl Lg. @bs sSWrlliyser Lwearu@SSLILGLLD QuUTGLSefler Ambs ST WHmID & eileners S mesfler
2 WIsTsHer BHUWar gl ullsd 2 eusarmailll Fhangaml sielgsar. @bHumeale SHmeetlssial
IIFMHEISESST HNeaTUudmUL@L QUITIHETTSTIS Q&TaTm&EEET @BHHUILI QUITHETTSTISSH 6T aleTiFHanuls
STLIQeID SHIGET QFMHS BTLIQET QUTIHETTSTT Huar&Hemarll LUMTSSTLUUSHNIN CubUBG SIS VIn NG5
&&HM C\GITETIY (HHHET. B HHMBI QGHTETNSHSHET @BHH I QUITHETTSTISH 6T &L Lennlie) b (9L
IDTMMENSHEH Q&Teor(h 6UBSET - BT L eNVLIQLITHL ST auphiGLarTsaln Ll Leflé @ba W&l L
Qamflegienm QurpLaseailar mHISIFCuTymsan wrHMlwg. QealeallumLwns, &TeoalsaHea | JEFMHEISD
@pHwmeler CxAW WMMID SeflBUF a@BLMaSms LHLILNG 0SNG 6THH @@ CHIMLOWTET (LW ME 6mWIUL]LD
GMmA&TaTaTalldvemey. @&HHMGI  QIIBLOTETHIGMT  AHaTallGausMETE CUMHASTeTaTLILLL e Seofllill L
WWHRSET (pFeorLl L Mol EFmm wigesemeT eflgser. G S58585 LRI LTerisefle) - ST&TUMml
QBTG eflevallwin 19869, semuel Cov adlymev, e9.6H.guF.ai. Fmel WHMID wi.H. CHemil - Hmeellssiel
&TVEH 6 Trel-allerr HILTH&6T W&Hah WWERWSSeUD UTbBSSHTS SHHSLILILLET. eTeleummrmuileid, @muUSTLD
BTHMTEtoTIq60r (NFHeV LIMTHUNey BT 1G60T QLTSS 2 etoremowlmenr 2 MUSHUNeT aueTiFR @ reor( FHeissEHMHEGID
SOOI QBHSS WHOID WETHES SellbUl 2 HUSHUTL B AMT F&H6TE QUETTEE WL 6T @606 heSTs
QUBHLDLITEVITET 316856 &600TLN)l1H SI6TerTeoT.

46. Ufllgey < H&E weary, @BHWT by 2MHusH agThlagion sWIfUUES BTG
SO GBHSS! ?
(1) UEGSS LHDID LLE SH6VE &TH Bayer
2) u@sH LHoID QuITMUIwWe QUL G6T
3) uBSH LHmID LK eayefl, 2 GeuMaLD WHMID elameGILILIMM &HE&HET GLITETM 66
@ Qummluilwe QUTEGBL&ET WHMID aflemeuGLILIMM 2 GeTsHLD
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47. What kind of interests was the colonial government concerned with in the economic policy for Indian

industries ?

(1) To promote the handicraft industries of India
(2) Promote and protect small scale industries of India
(3) Protect and promote the economic interests of Indian industry along with their home country

(4) Provide protection and promotion of the economic interests of their home country

48. Choose the economists who estimated India's National Income and Per Capita Income.

(1) Dadabhai Naoroji, William Digby, Bernier, V.K.R.V. Rao and R.C. Desai

(2) Dadabhai Naoroji, William Digby, Findlay Shirras, V.K.R.V. Rao and R.C. Desai
(3) Dadabhai Naoroji, Jagdish Bhagwati, V.K.R.V. Rao and R.C. Desai

(4) Dadabhai Naoroji, Findlay Shrirras and V.K.R.V. Rao

49. What was the country’s growth of aggregate real output during the first half of the 20th century ?

(1) The country’s growth of aggregate real output was less than two percent coupled with a meagre one
percent growth in per capita output per year.

(2) The country’s growth of aggregate real output was less than two percent coupled with a meagre one
and a half percent growth in per capita output per year.

(3) The country’s growth of aggregate real output was less than two and a half percent coupled with a
meagre half percent growth in per capita output per year.

(4) The country’s growth of aggregate real output was less than two percent coupled with a meagre half
percent growth in per capita output per year.

50. According to the passage, which of the following statement was true about Indian industries’ products ?

(1) Indian products were of inferior quality and cheap in the worldwide market.

(2) Indian products were promoted by the colonial government and competed with other countries’
markets also.

(3) Indian products enjoyed a worldwide market based on quality of material used and the high standard
of craftsmanship.

(4) Indian products’ raw material for primary goods was imported from the other countries and it helped
to increase export.
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47.

48.

49.

50.

QBHW CSTHLSZMMESTEON QUTHETTESTTES C&TaTamssulley  &meventlggiel
TG 6THS UM ITET &GN G 85 M6oor(H 6T6emSI?

(1) @bHwWmeler emselleners 6ndhE0 & MLlL&Em6T G &SI86V

) @bBHwmeler F1m Q&ML HIEMMEHEMET 2618 G 65560 LDMMILD LIMTSISHTE 560

(3) Q&MHsE BITLIMmHS @QBHW QST EmMUNET QUITIHETTSITT HeVeneorLl
LMSISMTS S0 IDMHMILD 2618685 60.

(4) Q&FMbHS BITL Q60T QUITHETTSTT HEVeM6oTLI LIMEHI&HMTEHHELD 2618 @6 &6 LD

@BHWmeler CHEF U aU@BLOMETD WHMID S6oflBUT eUGBLMTSns WS LUILIGID

QUITIHETMTHIT 6ULAIBIHMETSH CHIHOSHH EHE&H6]LD.

(1) srasrTuTll peuCrmel, aflevedlwi 19861, Quisflug, o.Cs.euFell. Fmey,
T.8).CHaFm

Q) smsmTumll  mauCrmel, alevellw  19&5L, semuel G adlrmen,
a9.G5.op.e0.pme LnMMILD 9F.5).CH &MUl

3) sTsTUTW  HUGTMYl, 9&$H6aq uUsaS, al.Cs.opiel.gmsy WwHmID
0.8).CHaF M

4) STSTUTUW BeuCTTel, semLieorl_Gev WfFmey MmmID 69.68.94 7.6 me)

20940 BIMHMTEOTIQET (NG UMHUNL BILIGET GILOMSHS 2 600T60L0UIT60T

2 MUSH U 6T 6U6TTES 6TeOT6OTEUTS @) (HHSHS!?

(1) BILIGET  QOMSS 2 eorenowlmer 2 HusSulledr  eueryse u_%]ueo’zrr@
FHIBHHNHGL GODAUTHAD, UETHHES SefbUl 2 HUSHWIL @@
55685 euaTiFAI WD QOBHSS!.

2) BILIQET  QMSs 2 eoenwmel 2 musSuller  euemigdd @ revor(h
F5i55HHGL GmMaTHaD, UaTHE&EEGS SelbUT 2 MHUSSIUNeL Qeumib
RETMENT FH6TE aleTI&FF UL DI @GHSS!.

(3) BTLIGET  QIOTSHS 2 600T6nOWITeT 2 MHUSHUNT  cueTIEE @l;rastfrl_sm
55555 MG GmmaT&Ealld, aThES SHeflbul 2 mHuseuiley um
QUETIEFFIWLD QBHSS.

4) BILIQeT  QOMSs 2 eorenowmer 2 HuSSuller  euemidd @ revor(h
FHIGSH DG GODAUNSHALD, ETHHSG SeflbUl 2 HUSHUle Siemn
F56i5 aleTiEA WD @QBHSS.

GuevLilg uUSHUNeT L, LleTau@ld Snmmsefley g @BFHW Qsmleugienm

Swimiflienul UMl 2_evoremLn?

(1) @bIHW SWTHILIL SI8EGeMMEUTErS LDMHMILD 2 608 FHenG U6V LDEO6UTETS.

2 @bSw swrfllL &meetlsgiel &UEFrrrmasg)g,rreu 2618 &N &S LILGH M S
LHMILD O BTLH FHeNSEEHL 6T GLImL_igud @@m@

(3) LWETUGSSULEWL  QUIGLSETET  SILb mIb 2wy  SIomer
0561 6M60TSH M0 4,8 Wwieum 6ot ccqmruuam_ & @QBHW  swrliy
2 euGaTTaIW FHenGHemUl S elLINGS .

% 9w BIH&efelGHS! @M&EEGLG QEFWWLILIGILD WG 60TemLOLI
QUIBLEHEBHEHEHTOT @QBHHIWILT QUITHLEET ePLIQUMTIHET WmHmih @sl
gOmInHeow 4B &f6s 2 aFmal.
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8.

10.

11.

12.

13.

14.

15.

16.

17.

18.

Read carefully the following instructions :

No candidate will be allowed to leave the OMR Answer
Sheet blank. If any OMR Answer Sheet is found blank, it
shall be crossed by the Invigilator with his/her signature,
mentioning “Cancelled” on it.

Do not tear or fold any page of the Test Booklet and OMR
Answer Sheet.

Candidates are advised to ensure that they fill the correct
particulars on the OMR Answer Sheet, i.e., Application No.,
Roll No., Test Booklet No., Name, Mother’s Name, Father’s
Name and Signature.

In case of any discrepancy in any question between English
and Hindi/Regional language version, the English version
will be considered as the final version for evaluation.

Rough work is to be done in the space provided for this
purpose in the Test Booklet only.

The answers will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the
OMR Answer Sheet invalid.

Candidates are advised not to fold or make any stray marks
on the OMR Answer Sheet. Use of Eraser, Nail, Blade,
White Fluid/Whitener, etc., to smudge, scratch or damage in
any manner the OMR Answer Sheet during examination is
strictly prohibited. Candidature and OMR Answer Sheet of
candidates using Eraser, Nail, Blade or White
Fluid/Whitener to smudge, scratch or damage in any manner
shall be cancelled.

There will be one copy of OMR Answer Sheet i.e., the
Original Copy. After the examination is over, the candidate
shall hand over the OMR Answer Sheet to the Invigilator.
The candidate can take away the Test Booklet after the
examination is over. If the candidate does not hand over the
OMR Answer Sheet to the Invigilator and goes away with
the OMR Answer Sheet, his/her candidature shall be
cancelled and criminal proceedings shall also be initiated
against him/her.

Candidates are advised strictly not to carry handkerchief, any
mobile phone, any type of watch, belt or wear ornaments
like ring, chain, ear-ring, etc., electronic or communication
device, pen, pencil, eraser, sharpener and correction fluid to
the Examination Centre. If any candidate is found possessing
any such item, he/she will not be allowed to enter the
examination centre. Possession of a mobile phone or any
other aiding material as mentioned above by the candidate in
the examination room will be treated as a serious violation
and it may lead to cancellation of the candidature and
debarring him/her from future examinations.

If a candidate violates any instructions or shows any
indiscipline or mishehaviour, appropriate action will be
taken including cancellation of candidature and debarring
from future examinations.

Use of electronic/manual calculator is not allowed.

LI)6vTer B LD 62BN (LD 6B 6NEIT F6LUGDTIOME LILG & FHEYLD :

8.

10.

11.

12.

13.

14.

15.

16.

17.

18.

OMR  aflemLggmeflener &mellwimgs ol 6bHS R
el euoreuor LILIGMTIHLD UG HSELILL WML LTS .CHamIlD
OMR  aleLGsmer &TelWng SToTLUULLT, S0

HEOUTGHTEOOILILITETITE)  eufsl SQWTLILSSILET [FHSI
QEWWLIULL g ereato GMILLIL Ceuetor(hib.

Gxielll USS&L wmmib OMR ellemLgsmefler erbHgLl
USSHSMS WD RNEHEEUT 0L &SHECT Fnl MSI.

allevoreoor ILIGTTF&ET  OMR  elemLgsmefley  &Frflwimeor
AleurkiGemer, SiGmeaugl, eNeuoreooTLIL 6T6vor, LILIQUI6V 61600,
Gxiels emsGW( erevor, QUWT, smuller QUWIT, SHhenguler
QUWT WHMID SAWTLIULD WHWahenm BIFLiLeImns
2 MSHOFWW ANeymSSLILGRMTIEHET.

YHRD wHmn sSdp QLIKL UAUIHDEG QeLCw
gCemiln Gmetallulley WreoTLM® S BHSTE, BIReULI
USLI ST Masmer @mIS L LUSLILTSES SHSLILGILD.
uWim® GauemeusmeneT, CFMHMaTES M&CWL g6 WL HIGL
@bs CHMEHESHMETE apBsLHULL GLSEH0 WLLHGW
QFWWLILIL Geuetor(hILD.

S edTeoTETmI 6V G 60 QF WG (LNEMM LNV LIF6V&6T LG LILTH
QFLWULGL .(PUWELWELILTS VLS  SHEUMITET
2 etafB&6T 2 6Tem OMR eflem LS & M6 QFeuTHSTR N HID.
eflevoreuor LILIGTTF&6T OMR aflen LGS mefley DIQLIL] {606V &I
apgeils  STuh  ghuGSSTIO60N QGSGLII
MG S LILGGR MTTEET. Gsrelleor  GumEd  OMR
aemLgsmefley o lliuimer, mB&WL, WCamH, GeusTener
Fyalb/emellery  CuUTeTMaIMenmML LwWeTU®GSH  OMR
allen) &5 mem6rm &HEm LBSSI56, EmeL IlLeual
CFalILMSSIHN HEOTQLLTHES HOLOF WL (H6TETSI .
Sl1Lmest, B&LD, AGer( RNV QeusTemerT
Frab/euillarerll LwWaTUBRSS hs alGSH D &Henm
uGSSUILLL, Gilwi STV CFaLILGSHILILL
el 6oor 6ToT L1 L1 &5 T 17 17 &5 61l 65T el guioTevoT LI LILD LDMHMILD OMR
allemn LG5 meT 7585 Q&wwliLmID.

OMR el Gomefledl @@ BHA, ASTUS FUBHEH
QBSEGL Csla WYhsab, Ggiauf OMR e ggmamar
seorasmeootLiLmeTflLld  @liuenLés Caleor(Gl  .CHiey
WY HSSID CFT6| USSH5mG CETa] ThiSHSIF QFeeaTLD .
eflevoreuor LILIG T OMR ell6m L5 & Temer & 600185 mevoflLILimeriflLh
RUILIMLESHTING, OMR allenlSH5MTEbL6T Q&FaTmiedl L M6,
Seurg Gsiey TH8 QFLWILLE, b Bs GoHmeilwe
BLEIG &S WD QSTLHBISILGBILD.

Gzie] LWSHMNG, NeTeTlILGTIIGHET MHEGL L,
QUDMEMLIGY GLITEDT, 6M&&HE&IQ.&MTD, QLEL, CLumH L, Q& uller,
GxMEH GUITETM ,LITEOTMHIGET, LO6TETaml S606VSl &&660
QBTLIL FMgeorid, CLIGTT, QLIGTEI6, SILILIM6IT, @q Ty LIeT
WOHMID HBSSID Hrad wHwamemm dO&SIF QFaE
Fa LTS .6 GTOT6TOT LI LIGS T IT I wWrGreLh HSSHME W
QUMIHLSHemET MaUSH([(HIHSHTEV, Sjal] G| enLnwlsH mE&e6r
BleOWPUl HQINHSSLILL  IDTLLT]. Csia| jemmuiley
ellevoreror LILIGTTT GG GUILUILG6TeTU.  QLOmemLIEy
Gumedr  Sevg  Caim  gGsend 2 salll QUT@HET
maUSHBGLILG SEenwnwimer AHSmenss &SmsLULGILD,
GLaIld 98 CHImel IH3 QF WG aHiETuS G sHer v
AGHS SIS 5HEGSLD.

6 ellesoTeror LILISTIT 6 CHenID M6y Mg S 608 emer LSleormey
g gEFMIL RUWEHHOETEMD VS  SHeUMITET
BLSOSMWE SHITLIG6TTV, CHTemel JHS QF WIS LoMHMILD
qRIHEMTVG CHTalGele) @HHS HOL QFUISH 2 arerfll L
S5&HS HLEUGEHNS 6T(H&HSHLILIOBILD.

L etTeuTemml/6m &G (h STV GCELLenTLI LWeTUOSS 2| eilnF
@ Vemev.




